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WiER BLEEt TEE D)

% # A - BRHE By ¥ 8 B & # wE
EEIEE 38,442, 250
MEIEE 4,570,782 + 12,989,935 17,560, 717
HBREE GD 4,113,320 + 457, 462 4,570, 782
HEREE (F) 38,442,250 x 10.70% (10.70% x 1.0) 4,113,320
RERERER 38,442,250 x 1.19% 457, 462
BisEER 43,013,032 x 30.20% (30.20% x 1.0) 12,989, 935
IERME 38,442,250 + 17,560, 717 56, 002, 967
—REEEE 56,002,967 x 16.96% (16.96% x 1.00) — 3,471 9,494, 632
BHIRIE 56,002, 967 x 0. 04% 22, 401
Tl 56,002, 967 + 9,494,632 + 22, 401 65, 520, 000
EEREELE 65,520,000 x 10.00% 6, 552, 000
FEIEE 65,520,000 + 6,552, 000 72,072, 000




BERNRE ELERT TEEZDI)
£ [ I - KT B o = £ % W =
BEEIZE® 38, 442, 250
i 38, 442, 250
T 38, 442, 250
BtT 34,136, 830
EiREL 34,136, 830
(R 20, 600. 00 1,500 30, 900, 000
m3
2 BRAK(ER)EL 17, 300. 00 187.1 3,236, 830
m3
EEERT 4, 305, 420
B EEER 4, 305, 420
3 EEER 7,560. 00 569.5 4, 305, 420
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&5 1
B MHEE Tm3%Yy
4 b g - BKTE BAGL H = B & # W = 5 &
MHE
m 3 1.000 1,500 1,500
& R E%£8EH :1.00m 3 1,500 1,500
&5 .2
B BRIR (ER) BT Tm3%y
4 b g - BRKTE BAGL H = B & # = 5 &
R NEFIN- 5
m3 1.000 187.1 187.1
& B E%£8H :1.00m 3 187.1 187.1
5:3
& EEER Tm2%y
% b R - BRRTE B #H =2 B & # = i &
EEER
m2 1.000 569.5 569.5
& R E¥£8EH :1.00m 2 569.5 569.5




